5 PAPER CODE - 6192
(11® CLASS - 12018) DGK '4:. - (2
MATHEMATICS , GROUP SECOND TIME: 30 MINUTES , MARKS: 20

OBJECTIVE _
NOTE: You have four choices for each objective type questionas A, B, C and D . The choice which

you think is correct , fill that circle in front of that question number. Use marker or pen to fill

the circles. Cutting or filling two or more circles will result in zero mark in that question.
QUESTION NO. 1

(1) Multiplicative inverse of complex number (0,-1) is
&) 1,00 ® ©On © @) O O
(2)  The contra-positive of p = q is
(A) q—p ®B) ~q=»p (©)q-~p @) ~q->~p
(®) Ifthemawix [ 5 1] issingularthen =
@az2 @1 ©-1 (D) -2
1 0 2
(4) IfmatrixA=[{0 2 1|thenthe cofactor A =
1 -1 1
@1 ®2 ©-1 M-
(5)  The roots of equation x*+2x+3 =0 will be
(A) Complex (B)Equal (C) Rational (D) Irrational
(6) If w is the cube root of unity then (1+w-wh)t =
(A)256 (B)-256 (C)-256w (D)256w
(7)  The fraction 3-;;-?1- is
(A) Proper fraction  (B) Improper fraction (€) Equation (D) Polynomial
(8) If a,,=3n-11  then nth term is g .
(A) 3n+5  (B) 3n-3  (C) 3n-5 . (D)Bnt+2
(9)  Arithmetic mean between 2+/2 and  2%/2 _is
Az ®4 ©On2Z @O0
(10) A die is rolled once then the probiability of 3 or 4 dots on the top is
w: ®: ©of) O;
(11) If in usual notations "Cg "Cg then n is equal to
(A) 6 (B) 8 4. (C)2 (D) 14
(12) The expansion of (3-5x)%/2 is valid if
@ 1xI<3 B [x1< %3 ©lxI<1 O [xI< g
(13) In the expansion of {1+xg'3 the 4" term is
(Adn-3% B) -10x  (C) 6x* D) 10x°
(14) 1If tan9=8/15 andnt <6< 3—_ﬁ:1r~th~sr.1lcoslﬁl =

@V ® Vs ©Bh @ Ty
(15) The value of cos 75° = :

V3-1 —/3+1 V3+1 —3-1
W5y ®=Fp O3 OS5
(16)  The period of 3 sin x is
@3 ®r ©21r O
(17) Ifx =90° then by law of cosine
(A)F=a*+b?  (B)a’=bl+¢’ (C)b*=a’+c?  (D)a’=b*-c
(18) Radius of escribed circle opposite to vertex BinA ABCis
A A A A
@w: B O O
(19) Domain of principal sine function is
W0,%H]1 @0, ©L ;. 21 OI0,21]

(20) The solution of sinx +cosx=0 in[0,7] is

wE e, O O
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QUESTION NO.2 Write short answers any Elght (8) questions of the following
| Define terminating decimal ; Give one example
Find multiplicative inverse of (-4.7)
Show that ¥ Z € C, 72+ Z? is a real number
Write {x|x €O A5 < x<7} inthe descriptive and tabular form
Write converse , contra positive of q = p
State Domain and range of relation {(x,y)|x+y>5}in A= {1,2,3,4}
5 -2 5
If B={ 3 -1 4.‘ , find cofactor By, and B2,
=2 1 =2
Xx+3

~IOnjun| S| LB | =—

Fmdxandylf[ 3y — 4] [3 2%

& f4+7 1
B oy+tx 1
y <+ 1

9 | Without expansion show that =0

10 | Solve : x*—x=2 by factorization
11 | Find four fourth roots of 16

12 1f «, B are roots of 3x*—2x +4=0, find the value of §+§

QUESTION NO. 3 Write short answers any Eight (8) questions of the following 16

Resolve E%(;(_z:t; into partial fractions

2 | Write the first four terms of a, = 2:+1

3 | Find the Arithmetic Mean (A.M) between x-3 and x+3,

4 | Sum up to 13-terms of the Arithmetic series %+ 22+ % T

5 | Find two Geometric mean between hand 8

6 | Calculate the sum of 8-terms of the. Geometric series 2-+(1- i) +% I e

91

7 | Evaluate TS

8 | Find the value of n , whemy(a)\iCs ="Cy and (b) "Cjo= 2=,
(C stands for combination)

9 | There are 5-greemand\3-red balls in a box. What is the probability of getting
a green ball

10 | Use mathefaticabinduction to verify the result for n=1,2
142+4.®........ +2™=20_1

11 | @alculate (2.02)" by means of Binomial theorem
12 | Expand up to 3-terms , taking the value of x such that the expansion is valid (8-2x)"
QUESTION NO.4 Write short answers any Nine (9) questions of the following 18
Findrif £ =56cm, 0 =45°
Find x if tan” 45° — cos” 60° = x sin 45° cos 45° tan 60°
2 . 2, 1-tan?@
Prove cos" 8 —sin“ 8= —
Prove that cos 306° + cos 234° + cos 162° + ¢0s.18° =0
Prove tan (>—8) +tan (= +6) =0 :
1-cose _ E(-
Prove sin o = tan 2
Find the period of tan >
In the right triangle A ABC , x = 37°20',a=243 , y=90°, Find “8” and “C"”
Find the areaof a AABC , inwhich a=18, b=24,¢=30

Prove that R = % , with usual notations

Prove tan'A +tan'B=tan (M'B

Find the solutions of the equation secx=-2 , X€[0, 2n]
Find the values of @, satisfying the equation 3 tan’ 6 +2v3tanf+1=0
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SECTION-II '

Note: Attempt any Three Questions from this section 10x3=30

5-(A) | Give logical proof of (AUB)'=A'NB’ when A , B are two sets

X é+x b+c
X b+x c+a
X c+x a+b

(B) | Without expansion , Prove that =0

glje

6-(A) | Show that the roots of (mx+c)’ =4ax will be equal if c=

2

m into partla.l fractions

B) Resolve

| 7-(A) | If Sy, S5, Ss are the sum of 2n, 3n , 5n, térms of Arithmatic Progression (A.P),
Show that Ss=5 (S3 - S3) '

B) | If y=§+£(3)2+13£(5)3+ .................... then prove that y2+2y—4é0

8-(A) | Ifcot § =15/ 3 and the terminal arm of the angle is not in quadrant-I, Find the values
| of cos 8 and casec & |

(B) Reduee’ sin® @ to an expression involving only function of niultiples of 8 , raised to the
first power

9-(A) | Solve the triangle A ABC , using first law of tangent and then of law of sines :
a=93, ¢=101 and B =80°

(B) | Provethat: sin’A—sin”B=sin" (AV1—BZ+BV1—-A?)




